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BL Solution 

BL also
1
 reduced the problem to  
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Only he expanded the denominator and cross multiplied to get  
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From this point on I can see he must construct the quadratic equation 
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 = 0. 

Again taking r = a/b, we have the quadratic equation 

70r
2
 – 149r + 70 = 0 

Solving for r (with the use of a calculator), we get 

r = a/b = 10/7 or 7/20 

But since a > b, a/b = 10/7.  That means a = 10k, and b = 7k for some integer k.  But since a and b 

are relatively prime, k = 1.  So a = 10, b = 7, and a – b = 3. 
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